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I-ط7(�ءــــــ��ــــ�ـــآـــا��
(  
  ��ت ا$����# �"آ��� ��س وا�������،وه� ا��� ����� ���� ����� �� ا��-��3�
 إ�����ات 

  : ��ا34# وذوق ا���ز ا�)�/.، -�,�+ �*( ا��)'�رة
   .Bوآ�3ل  Aآ���آ>�;�9� �:�E 7�8 �9ا����6)�. 

       . أذآ� ����ا�+.أآ��B� Eد�# هCا ا��:���B���� �9ل ا�*�A �*( ا��)'�رة) 1
2(H�(*��   ج ���� �����، -3إ�����ات��� ��J8 VA=11,4mL7�3ا� ��    

� VB=22mL7�8 و��J8 ا����Kآ>�;�� ��;L #��/إ H� �3لKا� ��   
M���� Kو ، ا��K'ا����� �� ا� Eل ا���آ���B���� N�;Oا� �O<� -1 .  

    �� ا�Q هCا ا���آ�E؟ و�� ��4
ة ا�����B+؟- 2-1
2-2 -Eا ا���آ�Cه �� #�Lاء ا�����ا$ Q�  . ����Jأي ا�� �8
د �aو b  

�U ا���ء ا� �رد�TJ;�3ز � .  

   �� دور 7�8 ا�M���� K �� هCا ا��*)�H؟- 2-3

 ���T# �:��9 ا��*)����B� Q�� Hة ا�7�3 ا��� ��B���� �Wل �3;�ل - 2-4(9   


 ا�*�داJ(� 0,07mol.ن؟�Kا��)�. ��دود ا��:����9آ�;# ا���6 ا��� .  

 ا���آ�E ا�>) 3�
� �� �J(� �9�:ا ا��Cدود ه�� �  ����B���� Yل ��3>�

 QJ3ا�VB=22mL ��J8�3ل وKا� �� VA’=57,2mL �;�<آ���Kا�7�3 ا� ��.  
3-1 -#��L أن �� YW3�  �4�T(م ا�
Wا�� xf#��8 [9# إ���Jول ا��\� ��
(9 �9�:�;�   

  . xf=0,187mol: ه� ا���ازن
   �� ��L# ��دود ا��:��9 �� هC[ ا���3#؟- 3-2
  .��ا�M ه� آ)^ ���HL هC[ ا�)��J#؟ 9;� - 3-3

 أن) 4J� +�;س آ���Lو �� ��J� ن�K�9ل ا���6 ا��� 
B� mexp=23,4g     .  
4-1 - #� ��Jا�� #��Wا� E<8أ rexp�9�:ا ا��Cدود ه��� .  
  ���ذا �:>� هCا اa�Ubف؟). �L  )3-2ر�H� �T ا���W# ا��� ��T��<8 Q �� ا�>\ال- 4-2
  

 II-ط6 (�1ءــــــز�ــــ�ـــ�ـــا��
(  

وران �8ل . O و��آ�ه� AB=L وm �T��d آ�;�AB �T وآ�;��T� �T;#، �;��3# �>�ق ���K� � �B��T9�Bc r  #<��Jة;� #;��L #9��Jا��

 �Wأ� ^��e �3ر�∆ #gW(ا� �� ��� O . Q<J� �3ا� +��d N و��� ، #;�T� +�;ود وآ�
� ��h �g�U ة�K ى ا��J� [;9 );�(C) +�;آ� m’ 
و��B � أن ا�K�8bآ�ت ��T;# وأن  CUk�g=10m.s-2 . )1-ا�'�K ( ���)> # �;�>��ى ا$�b��a� ���L #�α=30°�Wق jg� [;9 ���4 ��او

21: �>�قا��gB �9م L*�ر .ا�Y��(� b N�O 9;] ا� �Kة
12

J mL∆ = ،m=450g ،r=5cm ،m’=125g ،L=40cm. 
1 ( #l3� 
(9 #9��J�3ر ا���t=0#�4

ون ��#9 �� .  
1-1 -B� 

θɺɺ #�b  �� ا��>�رع ا��اوي أو��mو rو Lو TN�Oة ���� ا�
c .  
1-2 - E<8أ Q<Jرع ا��<� (C)  .  
) �� ا�>�ق 9)
�� ��Kن ا�A Q<J ا�>�9# ا��g;� #�gOف 8
د - 1-3C(
L  #��<ا�� HgL d=0,6m.  
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� ا�>�ق �>��  ��B ^ 9;] ا��gف ) 2� ��gW�(S)+�;آ�    
3S
m

m  ��* j ا��9��J# �� ��8# ��ازن �K� s�8ن ا��J[ ا�>�ق ا��او�# =
0θا ]�J�bا H�  أ����)�K'2-ا�.(  
#9 ��� أن - 2-1��Jرا�# ��ازن ا��
� 0 6θ °≃.  
2-2 -Q<Jا� �*:(�� N�Oا� HgW� (C)#9��Jا�� ���B � . ∆ و���O ��از��J(�� ،�T �8آ# ���C�C# دورا��# �8ل ا���3ر) S ��ق،��Kة،  ( 9

tار���;� a-أ N�Oا� HgL  #l3�.  
0g : ا��:�/;�# �;�3آ# �E�K 9;] ا�'�K ا�����  أe ^ أن ا���Bد�#-1- 2-2

Lθ θ+ =ɺɺ  

دي �;��Bد�# ا���)�#  -2- 2-2Bا� �� Bا�� N9�3آ#أ;�.  
III-ط7 (�2ءــــــز�ــــ�ـــ�ـــا��
(  

���� ���� آ����  ��k ا���ف ا����ي �
��� رأ�� �����  ���3
2 ا���ازن /
��. . G, +%�ر*  و#�آm=100gو�(�)� '&� #�%�! وآ���� #"��!، �
G0 4�56 #�آ, ا�9%�ر ��7�8 #6 ا:�# O ر رأ���;�� ( , )O k


ار�W���� �g,u(� 7��(ن ا��K+ ��3 ا$9;]، و����0∆ℓ . Q<Jا� j���

a=2mm  ��>��#ا9$;]9� ��/H ��از�+ ��3 (#�4 9
، ��)�J �8آ# ���C�C# رأ��# �8ل ��/Qe  #l3� t=0 H ��3ر[ �
ون ��#9 �

  . و����� ا�FG=�آ�ت #"��!g=10m.s-2�BCD ). 1- ا�<=��G0) 4از�+ 
1( ������	
  :ا
�را
� ا
2 3
2 ا���ازن )��&�- 1- 1�  .g وk وℓ !�G2� m∆0 أو
� أن )��&� ا����د�! - 2- 1�Jأ K(�&
� ����0kz :ا��(�:�&! ه� ����&. ا�9���ن ا� z

m
+ =ɺɺ.  

  . �;)��k7، أE<8 ا�*N=10Hz #�a 9;�� أن ��دد �8آ# ا�Q<J ه� - 1-3
1-4 -Q<Jد�# ا���)�# ��3آ# ا��B�;� دي
Bا� �� Bا�� N9أ .  
1-5 - tا���ر� ��9 t1 ر�*Wور ��آ� ا��� #l3;� G ذي ا$�>�ب H/ا��� �Q<J;� 1 $ول ��ة � 2z mm= . ]Cه 
(9 +�9�� #��L ��

#l3;ا�.  
  :ا	
را�� ا	�����) 2
) �;��3ر�B� O � ا��>��ى ا$��W ا���ر �� ا$-� - 2-1 , )O k

� #���Wا�� H/ا�� #L�g� #�B��� #��8Epp=0 #L�g� #�B�وا���3# ا��� ،

�� ��Kن ا�)��Epe=0 ]�'� ��h 7ا��/H ا����# (9 .  

20 :أe ^ أن �L�d �� B# ا��/H ا����# �;)�اس ا���ن ه� - 2-1
1 ( )2peE k z= ∆ −ℓ   

2-2 - #�K���Kا��� #L�gا� �� B� 
dz وzو ℓ∆0 وm وk �;)�اس ا���ن �
Em #�b أو�
dt

 .#���e #�K���Kا��� #L�gا��)�. أن ا�.  

������ ا	��وط ا��) 3�	:  

 #l3� 
(9 Q<Jا� ���� Q4a� ز�T� #gا���t=0 #�4
� ��/H ��از�+ �>�#9 �� �Lag0، ا� 0.V V k= −
��� �H� 1

0 3 .V m s−= . 9;�� أن
' ، أو�
 �8N=10Hz #��Lآ# ا���C�C� Q<J# �� �# و��دده� 

mZ�-أ
  .ϕ'  ا���ار�tو�H ا��3آ# وا��gر 9)
  
  
  
   

 


